201 8% (Tr30%)1 258 AEB

A B ® WM

% /i %{{//fffw
D

VN
TINIG =
=

LI,

&
By AR

d o

VT

LR By S WAVEIN 4

Ol | SSA—R—SOZAY

SREFSTRERCH R | JPOW s  ENT

EIOSIEING >SN | TSR OV IE
JASHEHIREER |- 0 ACEE

SERTHESHETRT /D —CUAGTSTHS

B S—Zumudl S>E—1OEY &

Yo (Reo

Bl T

B SIHE T Eir R
REANFPIEDt | STPRal

nOvHR AN e T\
ﬂe}‘&w

* ) H| TACHEARHHSE=

XK= ONG > S
— IR 0T
CHSAMEHE=E

—
-

Slugt

— AR R

SEOOTOU SN | SEtCHMR 7N

UER ACHERNT > S— | (T HHETROS

x

-,

IR SR

<
-

4|
B NI S TOMR B (RS0

[

o
o

BEMOBA

~
-

NG

SRS
O, o
THOf | o RHH

ACKRESHEE .S ¢RyER
SARIEHROFO  BEENT >

ACH(MN [
=T
SENNTIG

Cond
-
-
-

)
:

B/ | (.o B
° U‘
FHOOMTES | SvOgiN

-
-

ATV | S—IED

P A oo R

P SEE

TRREREETW > SR

Bt o SEVOvet | UGS
I Ol Rt

H oo SBSTHAR | WiéXNU

L

-

| FERFS E*

ACHEE A

1, %
mMEHASAS » W .S | TSIy

HESHOIHE A, mSSAIDH I FEE = o
(P | HESUEE) #Es

HFERPETA P — T IFE TIPSR

-
-

-

TRESHE O | ORI

(VRS0 R | RS C VB 48 | RNHBHSA e V(Y
W LSOt EEE

HASHRAIHIDE & Ok

ORMNFHCKEH ST 7 c =% ok NASTHITE .

=

ARGEIEY —— )L\ ZRDEIR
KEEE N

OHIFITISCTe/\T R EITKESHA.
PRSHA. VESHALHY LT,

KBREHA/NT X
BERIIHERCTCLEIA. & MTEe / FHomA
F1_ElE G-NEXUS  FRAME Zflifil. #HkHI/hESWnas
T =7 L—ADOIRZRD TRE IR TT,
T—=NVBRBRDTERRL—RITEHE T
FRHUEZIEBIRDORY F—RF— b 0.5 mABET 0
HEZEHIT IR IO TFIZY— b 2B8TTH
MBS — 2 2 HIZIRD 2 & 2B TTH

BRPOHEDEEEREEZR LGS ZRDBZ L
M 5.4mX12.6m

3E X7 21.03F

FREHA/NTX

EREEHE L TH7Kh 900 B&iAd+ h 600 TH. #. #HIFIE
b/ F#9mMA, #7Lid G-NEXUS FRAME Z4iH. #kHZ
INEWBT =7 L—LDIBIRRD THEFITIZ

T =N D TEBRAL—RIZHED S

BHIEAY 2 — o 0. 15 mA ], ffiR%2 BRI
B, A — b 2 BITREZEEBTTH
BRPOEBEMEREEB LIONIZRDDZ L
REEREZR LEWEEIX. Ny 2RSS 72 BRI
I TR 2 & & TR b vl g,

M 7.2mX12.6m
4F5 X5 2005

L el
PREEHINT 2

DESHA/NT R
ERIMLT, Fikh900 BsHAdh600 Bk Y
G-NEXUS FRAME ZfEF. MEHINEWDT7—ILT L —LD
RGO THBICIFRVTT, 7 IUEREOTERNRL—X
ICE5%. BIRIZN\IZABY— D015 mEEA, RE%
ERTNEEIR. NEEY— M E2EICRDILERTTD

BEREAE VBRI, N\TRBNA TEREREICSCT

FAY 3 & CHREMRE ATHE
M 6.3mx19.8m
35 X11 R 33.881F

BB TS H | 2RI L St A o HRE | 09SARY

R S\ RICRERER A —T Y (—F) S E

=

N



